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Overview

® History/Facts - Worum geht es uberhaupt?

® Console - viele Beispiele
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History/Facts

® Zielvorgabe: Sprache/Plattform fur
Telekommunikation

® Concurrency, Robustness, Distribution




Jump in (interactive)

Console [numbers, atoms, tuples]:

S erl
Erlang (BEAM) emulator version 5.6 [source] [smp:2] [async-

threads:0] [kernel-poll:false]

Eshell V5.6 (abort with ~G)
hbhﬁl?ﬁﬁihi_hq_m]._
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tuple (fixed
length array)




Console [lists]

= o

[ele2ai]

8> "abc".

"abc"

9> [97,98,99].

"abc"

10> il ot teira. 5t
ot sG]

.
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list comprehension




Console [Vars, matching]

:131> Sl ram S @ Q . )
single-assignment!
3250 M=o

** exception error: no match of right hand side value 2
33> A=l

1

34> Rosmiasiili 0 _




Console <<bit syntax>>

38> <<2#010000000001000000000100:24/big>>.

<<64,16,4>>
39> <<2#010000000001000000000100:24/1ittle>>.

<<4,16,64>>
40> <<D 24/uns1gned—1nteger—b1g>> <<1 2 3>> D
: 53 * ce . : ; O £ G & .".-':. -l ' 41 ., & S1 _




Functions & Modules
-module (m) .

-export([fac/1]).
( guard>

fac(X) when X >=1 ->
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tail-recursion




Functions & Modules

S erl
Erlang (BEAM) emulator version 5.6 [source] [smp:2] [async-
threads:0] [kernel-poll:false]

Eshell V5.6 (abort with “G)
1§\c(m)




Concurrency: about
processes and messages

“The world is parallel.

If we want to write programs that behave as other objects behave in
the real world, then these programs will have a concurrent structure.
Use a language that was designed for writing concurrent applications,
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Concurrency: about
processes and messages

Locks/

common communication between shared thread-
Threads (e.g. in Java or Python) memory safety

Thread Thread
1 2




Concurrency: about
processes and messages

{communication between Processes

Process 1 Process 2

__________________
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Processes, Messages
(Code)

-module (foo0) .

-export ([
bar/0,
test/0
L)

bar() -> _ receive

new process




Processes, Messages
(Compile & Run)

5> c(foo0).
{ok, foo}
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Example: URL rewriter

#!/usr/bin/env escript

main(_) ->
error logger:tty(false),
Sender = spawn (fun sender/0),
receiver (Sender) .

sender () ->
receive
quit -> ok;
{put, s} ->
io:format ("~s", [S]),
sender ()
end.

receiver (Sender) ->
case io:get line('') of

o yF )




Ex. step by step [I]

#!/usr/bin/env escript

main( ) ->
error 1ogger tty(false),
| Spé wn fun en-er 0

*-h- ol 1, ....u-..,'.




Ex. step by step [2]

sender () ->
receive
quit -> ok;
{put, S} ->
io:format("~s", [S]),
sender ()

end.




Ex. step by step [3]

worker (Sender, String) ->
[ID, URL, Client, User, Method, URLGroup| ] =
string: tokens (String, " "),

%% this computation takes really long
timer:sleep (5000),

NewURL = case URL of




left out

® OTP - Open Telecom Platform

Loy L =
gt




Read on

® Web: official Erlang documentation:
http://www.erlang.org/doc/

L]
® Book: Programming Erlang - Software for a
-
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